X RBEESEEELUNMBAE. REEEEEH TS, [(REMMEEER (hse) BEH X
[ StEEH ]

REBRE(Oi):183C S&BE(0a):20C

&% (Di):100A

S i iR

BRZE:3m #

KEE

KREMHEOMETE():0.3

(5 18] ©3390774AN=T5059 M B 25mm

HYZEF:100°C= 0 =1000°C 0.065-3 X 10"-5- 6 +3.78 X 10"-7- 82 (W/m-K)

[ 28] TLVEEDIL YD LRER(FE)1H-13 25mm

FREFR.0C= 0 =300°C 0.0407+1.28 X 104+ 0 (W/m-K)

BREE300°C= 0 =800°C 0.0555+2.05x107-5- 0 +1.93 X 10"-7- 6 "2 (W/m-K)
[ Et&EiBTE ]

ERBNEFBEERVFRICRELTEBREMOFHBEEE (A m) ERDHB,

[ 18] BEFREEO1) 107.7C

[E2f8] BREE(02) RERE(0se) 31.3C

F 1 EFEYMEER 11

A 1=1/(183.0-107.7)- S f(6)d 6 f(6):107.7°C= 6 £183.0C

=0.06881 W/m-K
E2BTHRREER A2

A2=1/(107.7-31.3)- T f(6)d 8 £6):313°C= 0 £107.7°C
=0.0496 W/m*-K
SCETEMBESE (h)
hr=¢ - 0 -[{(273.15+ 8 se)/100} A4 — {(273.15+ 6 a)/100}°4]/( 6 se— 8 a)
€ (TETER

0 :ATI7V- K WIIVTEEN(5.67-107-8 W/(m - K 4))
=1.82W/m-K
xtRICLDEMRER (hev)
S Il % R
KEE
hev=1.19(A 6/D)*0.25 X {(W i+0.348)/0.34810.5



(A6 FREEABREEDREZC DIFESNEM WildEEm/sec)
=9.95 W/m-K
REBEEE (hse)
hse=hr+hcv
=11.77W/m-K
MEAEE (D ZKRHD
ql=2 7 (6i— B a)/[2/(hse-Dn)+ X {In(D n/D n-1)/ A n}]=89.7 W/m
BERAEERND
01=60—qlxIn(D1/D0)/2 7 A1
=107.7C
FERE (0 se) 2kHd,
Ose=ql/hse-D27m+ Ha
=31.3C
O TEHNEBREREENREMEIGELVNETEBAIND,
SEHER ]
[55 1 B FHEEEER (A m)=0.06881 W/m-K ERBEE=107.7C
(58 2 B FHEEEE (A1 m)=0.0496 W/m-K
SHTBRER (hr)=1.82 W/m-K
Xt RICLDEMRER (h e v)=9.95 W/m-K
REHEZER (hse)=hr+h cv=11.77W/m-K
MEREAE (91)=89.7W/m
REBE (0se)=31.3C



